
Government of India
Ministry of Defence

Ordnance Factory Board
10A, S.K. Bose Road

Kolkata - 700001

CENTRALISED VENDOR REGISTRATION CERTIFICATE

This is to certify that M/s SADHA ENGINEERING WORKS, plot no. 283 & 284, 4TH MAIN ROAD, SIDCO WOMEN'S INDUSTRIAL

PARK, KATTUR, THIRUMULLAIVOYAL, CHENNAI Tamil Nadu is registered at Ordnance Factory Board for following Items.

 

Sl.
No.

Factory / Unit Item Nomenclature Initial Date of
Registration

1 Engine Factory Avadi Access hole cover 20-09-2016

2 Air Starting Pipeline 20-09-2016

3 Adjusting Ring 20-09-2016

4 Axle 20-09-2016

5 Axle Housing 20-09-2016

6 Bush 20-09-2016

7 Bushing 20-09-2016

8 Bolt 20-09-2016

9 Bolt M6x45 20-09-2016

10 Bolt M6x20 20-09-2016

11 Bolt M10x50 20-09-2016

12 Band 20-09-2016

13 Block 20-09-2016

14 Balancing Shaft nut 20-09-2016

15 Cotter Pin 20-09-2016

16 Cotter Pin 4x36 20-09-2016

17 Clip of 2 pipes 20-09-2016

18 Clip of 3 pipes 20-09-2016

19 Clip of 6 pipes 20-09-2016

Page 1/6



20 Cover 20-09-2016

21 Cover plug 20-09-2016

22 Clamp 20-09-2016

23 Cleat 20-09-2016

24 Cap 20-09-2016

25 Cap of block spring 20-09-2016

26 Coupling Stud 20-09-2016

27 Drive Bush 20-09-2016

28 Drive Coupling 20-09-2016

29 Elbow 20-09-2016

30 Fuel discharge pipe LH 20-09-2016

31 Fuel discharge pipe RH 20-09-2016

32 Fork for Valve Disc 20-09-2016

33 Gasket 20-09-2016

34 Governor Disc 20-09-2016

35 Hook 20-09-2016

36 Heating pipe Lower RH 20-09-2016

37 Idle Gear Axle 20-09-2016

38 Injector attatching nut 20-09-2016

39 Injector fastening nut 20-09-2016

40 Key 2.78mm 20-09-2016

41 Locking Ring 20-09-2016

42 Locking Plate 20-09-2016

43 Locking Wire 20-09-2016

44 Locking Wire Dia 1mm 20-09-2016

45 Locking wood screw 20-09-2016

46 Lock Spring 20-09-2016

47 Locking washer 20-09-2016

48 Locking Bush 20-09-2016

Page 2/6



49 Lever support 20-09-2016

50 Lever pin 20-09-2016

51 Mesh 20-09-2016

52 Nut 20-09-2016

53 Nut M8 20-09-2016

54 Nut M10 20-09-2016

55 Nut M12-7H 20-09-2016

56 Nozzle 20-09-2016

57 Oil by-pass 20-09-2016

58 Oil by-pass tube 20-09-2016

59 Oil pipe to Camshaft LH 20-09-2016

60 Oil pipe to Camshaft RH 20-09-2016

61 Oil Packing Ring 20-09-2016

62 Oil Trap 20-09-2016

63 Plug 20-09-2016

64 Pipe 20-09-2016

65 Pipe Assy 20-09-2016

66 Pipe feeding Oil to Pump 20-09-2016

67 Pipe of 1st main Journal 20-09-2016

68 Pipe Union 20-09-2016

69 Plate 20-09-2016

70 Packing Ring 20-09-2016

71 Pin 20-09-2016

72 Plate clamping 20-09-2016

73 Ring Stop 20-09-2016

74 Ring 20-09-2016

75 Retainer 20-09-2016

76 Retaining Ring 20-09-2016

77 Regulator Plate 20-09-2016

Page 3/6



78 Screw 20-09-2016

79 Screw M5x12 20-09-2016

80 Sealing Ring 20-09-2016

81 Setting Ring 20-09-2016

82 Socket Wrench 20-09-2016

83 Shim 20-09-2016

84 Spring washer 20-09-2016

85 Starting Air Pipeline LH 20-09-2016

86 Starting Air Pipeline RH 20-09-2016

87 Spanner Assy 20-09-2016

88 Spl Spanner 20-09-2016

89 Spanner for Ex.manifold 20-09-2016

90 Suction pipe 20-09-2016

91 Spacer 20-09-2016

92 Shield 20-09-2016

93 Stud M8x30 20-09-2016

94 Swivel Elbow 20-09-2016

95 Servo Piston Ring 20-09-2016

96 Supporting ring 20-09-2016

97 Tommy Bar 20-09-2016

98 Tappet 20-09-2016

99 Tapper Pin 20-09-2016

100 Tie rod 20-09-2016

101 Tie rod shaft 20-09-2016

102 Tight fitting Bolt 20-09-2016

103 Torque Wrench for Injector 20-09-2016

104 Tube for Oil discharge to cleaner 20-09-2016

105 Tommy Bar Dia 10 20-09-2016

106 Union Nut 20-09-2016

Page 4/6



107 Union pipe Elbow 20-09-2016

108 Valve Body 20-09-2016

109 Governor Lever Axle 20-09-2016

110 Washer 20-09-2016

111 Washer 12 20-09-2016

112 Thrust Washer 20-09-2016

113 Wood Screw lock 20-09-2016

114 PIPE V46[62] 23-12-2022

115 AIR STARTING PIPE LINE[62] TO DRG.NO. SB

322-00-9

15-06-2023

116 PIPE TO FUEL PUMP[62] TO DRG.NO. SB

3335-07-19

15-06-2023

117 COMPRESSED AIR STARTING TUBING ASSY [62]

TO DRG.NO.SB 322-00-9

16-06-2023

118 PIPE TO FUEL PUMP [62] TO DRG NO. SB

3335-07-19

16-06-2023

119 PIPELINE[62] 07-05-2024

120 Heavy Vehicle Factory ALL TYPES OF METALLIC PIPELINES[62] 04-05-2019

 

Registration No. : CHES28432F

Initial Date of Registration : 20-09-2016

Downloaded at : 20/04/2025 02:26 am

 

Conditions of Registration:

1. This Registration has been carried out based on self-declared documents furnished by Vendor.

2. Changes, if any, in Address or constitution of the Firm, major Machinery/Equipment or Technology should be intimated to the

Registration Authority immediately.

3. The Registration Authority reserves the right to cancel this Registration Certificate at any time.

4. Registration will be valid for 05 years with automatic renewal unless cancelled on account of administrative reasons.

 

 This is a system generated certificate. Hence no separate signature is required.

 

Page 5/6



NOTE: It is only a registration of vendor. It does not grant any special supply status to the Vendor. It is for the purpose of
participation in Tender process only.

 

 

Powered by TCPDF (www.tcpdf.org)

Page 6/6

http://www.tcpdf.org

